LOosungen zu schwierige lineare Gleichungen:

Ubungen: a) 2(x+0,1)(0,5x+2) = (3+— )(3—£x)+1§ x?

by 3a(a—>5)+2(3—2a)* =2a(9 + 2a) + (5—3a)(2 —5a) —8a*
¢) (¢ —05)(@+0,5)—(p—0,2)* +4,44 = (p+1,2)* — (¢ +0,3)°

d) Bp+2)°+4(p+5)(p-5=(2p+3)° - (5-8p)(5+8p)

Zu a)
1 10 2
2(x+0,1)(0,5x+2) = (3+§ )(3——x)+ 9

2(0,5%2 +0,05% +2X +0,2) = 9_%x2 N 190 W
x> +01X+4x+0,4=9+ x*
X +41x+0,4=9+x° |- X
41x+0,4=9 1-0,4
41x =8,6 =41
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Zu by
3a(a—5)+2(3—2a)°* =2a(9+2a) + (5—3a)(2 —5a) —8a*

N 3a® —15a +2(9-12a+4a*) =18a+ 4a” +10 —6a — 25a + 15a° —8a’
& 3a® —15a+18—24a+8a”* =-13a+11a” +10
N 11a®* —39a+18=-13a+11a° +10 |-11a°
= —39a+18=-13a+10 |+39a
o 18 = 26a +10 |-10
PN 8 =26a | =26
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ZU C)
(p-05)(p+05)—(9p—02)° +444=(p+12)* — (¢ +0,3)°
@* —0,25— (¢ — 0,40 +0,04) + 4,44 = ¢* + 2,49 +1,44 — (¢* + 0,69+ 0,09)
@* —0,25—p* +0,40—0,04+ 4,44 = ¢* + 2,49 +1,44 — > —0,6¢— 0,09
415+0,49 =18p+135 |-0,4¢
415=14¢0+135 |-135
28=14¢p |+1,4
2=¢
L={z}

leggoegoo

Zu dy
Bp+2)*+4(p+5)(p—5) =(2p+3)*—(5-8p)(5+8p)
64p° +32p+4+4(p2 —25) = 4p® +12p +9— (25— 64p?)
64p° +32p+4+4p? —100=4p® +12p +9— 25+ 64p?
68p2 +32p—96 =68p° +12p 16 |- 68p?
32p-96=12p-16 |-12p
20p-96=-16 |+ 96
20p =80 |+ 20
p=4
L ={4}
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